
Y4 – Autumn – Block 1 – Step 6 – Partitioning Answers

Question Answer

1

a) 2,156 = 2,000 + 100 + 50 + 6
b) 5,308 = 5,000 + 300 + 8
c) 6,120 = 6,000 + 100 + 20

2

3,472 = 3,000 + 400 + 70 + 2
3,472 = 2,000 + 1,400 + 70 + 2
3,472 = 1,000 + 2,400 + 70 + 2

3
a) 2,000    600    50    in any order
b) 7,000    30     9        in any order

4

a) 3 hundreds, 4 tens, 8 ones
b) 5 thousands, 0 hundreds, 7 tens, 2 ones
c) 2,760
d) 8,002
e) 5 tens, 4 ones
f) 2 hundreds, 8 tens

5

a)   9
9
1,009

b) 56
7,100
7,150

6 1 thousand is made up of 10 hundreds so 20 hundreds make 2 thousands.

7
7,219
7,912

8
a) Card D
b) Any statement that is equal to 4,600 e.g. 2,000 + 2,600


